MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

(ALL CA INTERMEDIATE BATCHES)

DATE: 19.01.2021 MAXIMUM MARKS: 100 TIMING: 374 Hours
FINANCIAL MANAGEMENT
SECTION - A

Q. No. 1 is compulsory.
Candidates are also required to answer any four questions
from the remaining five questions.
In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of questions top answered in
the answer book shall be valued and subsequent extra question(s) answered shall
be ignored.
Working Notes should form part of the respective answer.

Question 1:

(a) A firm’s details are as under:
Sales (@100 per unit) Rs. 24,00,000
Variable Cost 50%
Fixed Cost Rs. 10,00,000

It has borrowed Rs. 10,00,000 @ 10% p.a. and its equity share capital is Rs. 10,00,000
(Rs. 100 each) Calculate:

(i) Operating Leverage

(i) Financial Leverage

(iii) Combined Leverage

(iv) Return on Investment

(v) If the sales increases by Rs. 6,00,000; what will the new EBIT?

(5 Marks)
(b) The capital structure of Beta Limited is as follows:
Equity share capital of Rs. 10 each 8,00,000
9% preference share capital of Rs. 10 each 3,00,000
11,00,000

Additional information: Profit (after tax at 35 per cent), Rs. 2,70,000; Depreciation,
Rs. 60,000; Equity dividend paid, 20 per cent; Market price of equity shares, Rs. 40.
You are required to compute the following, showing the necessary workings:
() Dividend yield on the equity shares
(i) Cover for the preference and equity dividends
(iii) Earnings per shares
(iv) Price-earnings ratio.
(5 Marks)

(c) There are two company N Ltd. and M Ltd., having same earnings before interest and
taxes i.e. EBIT of Rs. 20,000. M Ltd. is a levered company having a debt of Rs.
1,00,000 @ 7% rate of interest. The cost of equity of N Ltd. is 10% and of M Ltd. is
11.50%.

Find out how arbitrage process will be carried on?
(5 Marks)

(d) Ganesha Limited is setting up a project with a capital outlay of Rs. 60,00,000. It has
two alternatives in financing the project cost.
Alternative-I : 100% equity finance by issuing equity shares of Rs. 10 each
Alternative-II : Debt-equity ratio 2:1 (issuing equity shares of Rs. 10 each)
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The rate of interest payable on the debts is 18% p.a. The corporate tax rate is 40%.
Calculate the indifference point between the two alternative methods of financing.
(5 Marks)

Question 2:

(a)

(b)

The following information is available in respect of Sai Trading company:

(i) On an average, debtors are collected after 45 days; inventories have an
average holding period of 75 days and creditor’'s payment period on an
average is 30 days.

(i) The firm spends a total of Rs. 120 lakhs annually at a constant rate.

(iii) It can earn 10 per cent on investments.

From the above information, you are required to calculate:

(@) The cash cycle and cash turnover,

(b) Minimum amounts of cash to be maintained to meet payments as they become

due,
(c) Savings by reducing the average inventory holding period by 30 days.
(5 Marks)
The following information relates to Navya Ltd:
Earnings of the company Rs. 20,00,000
Dividend pay-out ratio 60%
No. of Shares outstanding 4,00,000
Rate of return on investment 15%
Equity capitalization rate 12%

Required:

() DETERMINE what would be the market value per share as per Walter’s model.

(i) COMPUTE optimum dividend pay-out ratio according to Walter’s model and the
market value of company’s share at that pay-out ratio.

(5 Marks)
Question 3:
ABC Limited has the following book value capital structure:
Equity Share Capital (150 million shares, Rs. 10 par) Rs. 1,500 million
Reserves and Surplus Rs. 2,250 million
10.5% Preference Share Capital (1 million shares, Rs. 100 par) Rs. 100 million
9.5% Debentures (1.5 million debentures, Rs. 1,000 par) Rs. 1,500 million
8.5% Term Loans from Financial Institutions Rs. 500 million

The debentures of ABC Limited are redeemable after three years and are quoting at Rs.
981.05 per debenture. The applicable income tax rate for the company is 35%.

The current market price per equity share is Rs. 60. The prevailing default-risk free interest
rate on 10- year GOI Treasury Bonds is 5.5%. The average market risk premium is 8%. The
beta of the company is 1.1875.

The preferred stock of the company is redeemable after 5 years is currently selling at Rs.
98.15 per preference share.

Required:

(1)
(i)

Calculate weighted average cost of capital of the company using market value
weights.
Define the marginal cost of capital schedule for the firm if it raises Rs. 750 million for
a new project. The firm plans to have a debt of 20% of the newly raised capital. The
beta of new project is 1.4375. The debt capital will be raised through term loans, it
will carry interest rate of 9.5% for the first Rs.100 million and 10% for the next Rs.
50 million.

(10 Marks)
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Question 4:
PQ Ltd., a company newly commencing business in 2017 has the following projected Profit
and Loss Account:

(Rs.) (Rs.)
Sales 2,10,000
Cost of goods sold 1,53,000
Gross Profit 57,000
Administrative Expenses 14,000
Selling Expenses 13,000 27,000
Profit before tax 30,000
Provision for taxation 10,000
Profit after tax 20,000
The cost of goods sold has been arrived at as under:
Materials used 84,000
Wages and manufacturing Expenses 62,500
Depreciation 23,500
1,70,000
Less: Stock of Finished goods
(10% of goods produced not yet sold) 17,000
1,53,000

The figure given above relate only to finished goods and not to work-in-progress. Goods equal
to 15% of the year’s production (in terms of physical units) will be in process on the average
requiring full materials but only 40% of the other expenses. The company believes in keeping
materials equal to two months’ consumption in stock.
All expenses will be paid one month in advance. Suppliers of materials will extend 1-1/2
months credit. Sales will be 20% for cash and the rest at two months’ credit. 70% of the
Income tax will be paid in advance in quarterly instalments. The company wishes to keep Rs.
8,000 in cash. 10% has to be added to the estimated figure for unforeseen contingencies.
Prepare an estimate of working capital.
Note: All workings should form part of the answer.

(10 Marks)

Question 5:

C Ltd. is considering investing in a project. The expected original investment in the project
will be Rs. 2,00,000, the life of project will be 5 year with no salvage value. The expected
profit after depreciation but before tax during the life of the project will be as following:

| Year | 1 | 2 | 3 | 4 | 5

Rs. 85,000 1,00,000 80,000 80,000 40,000
The project will be depreciated at the rate of 20% on original cost. The company is subjected
to 30% tax rate.

Required:

(i) Calculate payback period and average rate of return (ARR)

(i) Calculate net present value and net present value index, if cost of capital is 10%.

(iii) Calculate internal rate of return.

Note: The P.V. factors are:

Year P.V. at 10% P.V. at 37% P.V. at 38% P.V. at 40%
1 .909 .730 725 714
2 .826 .533 .525 510
3 751 .389 381 364
4 .683 284 276 .260
5 621 .207 .200 .186
(10 Marks)
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Question 6 :
fewfory fofag |

(a) TAEd feued i

(212 Marks)
(b) YR feueed e

(212 Marks)
(c) =™ Yol ARRE

(212 Marks)
(d) w9 e dfvs

(212 Marks)

SECTION - B
Q. No. 7 is compulsory.
Answer any three from the rest.

In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of equestions first answered
in the answer book shall be valued and subsequent extra question(s) answered
shall be ignored.

Working Notes should form part of the respective answer.

Question 7:
(a) fI%a AUR G689 @ G W Udh G Ae ford |

(3 Marks)
(b) Countervailing Duties @ T & |

(2 Marks)
(c) TH-ID! IrIel B AR Rl & ®U § AU |

(3 Marks)
(d) IR AR & Fobfefore giedv & We & |

(2 Marks)
Question 8:
(a) U9 & foru |er 91 & ARAT B |

(3 Marks)
(b) rE@reid e faw™T & forg It ifa @& g =iy |

(2 Marks)
(c) AIfeld LIS & IR PN |

(3 Marks)
(d) fMfaTT &R o R o |

(2 Marks)
Question 9:
(a) 3D WFR Hc AMaTIHal R 87 T8 fhbd TR AR BT Fa1fad Hxafr?

(3 Marks)
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(b) <SET B uRwia &) | TS ST "I | U T HHS '°

(3 Marks)
(c) I JE—T I Bl WL TN |
(2 Marks)
(d) < & & B UeR dhe I aTRT B BT ST HdxT d6IR &6l &% 9 FGafed 87
(2 Marks)
Question 10:
(a) 1983 ¥ IARLRAT 7 U SfER Bl Fellc B Bl MR T | Jad AUR AFK 8T, YIS 3R
WW%WW NRR A IS YA BT AT DN |
(i) @maﬁﬁerﬁﬁaﬂa%ﬁﬂfﬁfﬁmﬁlgwlﬁwwqﬁgaﬁﬂm%‘lfgfﬁ?\%ﬂ?ﬁm
T o= A & ufd e Jgdme o, gAforg sWRer # Sifgforas SwRl &
fata # v srguifos gfg g3 2|

(i) sifegferar & el &1 AT © b MRer # faer R Red wEl &R &1 gorem +
3NH ATHYD BT | $HD URUTHERY SFRD Sfek # fder &1 @i 4 991 gfg g8
=

(iii) MUl gA1dl & SR SFRGT H Iqoiifae Hfadar =1 iikgfoar #§ aifegfoars
facia a9 &1 91 T R 9earg fhar|

(iv) SIRElorr & §p 2= 4 te 98MRI A ARSI B THUTE IR W I BRI
IR IMRBT § Ps @rer Yl & Yd9r R gfaeer o foar

(5 Marks)
(b) TS MREd &R ARl & /I Ml BT Icolkd BN |
(3 Marks)
(c) WRAT Hu~al grRT faesh veer fAawr W e A ford |
(2 Marks)
Question 11:
(a) = aroft § @ T I 1 ST SR A0ET DN
(i)  H A 91 B9 B RT §eI Adg
(i) IR HHT R b 8¢ SIS
(iii) WaeR AN R Yg =W SR
faa=or IS W A
(i) | I WRPBR Bl BH B gIRT Il 300
(i) | B9 A gRT famr 1500
(iii) | YRaR BT BH B gRT fah 1350
(iv) | BH A &I Cfd H dead 200
(v) | %9 B &7 3ifad id 140
(vi) | ®H B &1 IRM® T(h 130
(vii) | 5 A gRT 5T 270
(viii) | TFI BH FRT AT TUTE B 375
(ix) | RerRr ElﬁTrﬁ BT STANT 720
(x) | ®H A ¥ B @I ! 300
(5 Marks)
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(b) I faRiwar wR ARG =1 g% H e Bl a¥iiqd B gfad BT afola & |
(i) Gell Ugd Wi-Fi cad
(iiy </ 9T & | FSH
(i)  UP
(3 Marks)

(c) Mg & gHeAT Tk ®I aftid @ |
(2 Marks)

% Xk
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